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[C31RIRE 45 A E (FKth: ILF)

KEEZIRH KEE#EE R448 | R45A | R46A | R4ATA | R48H | R49A | R410A | RA11H | R412R | R5.1A | R5.2A | R5.38
j—(f}é‘riﬂl% &K 1mLE 100ELTF 0 0 0 0 0 0 0 0 0 0 0 0
= & BHIhGLCE THH THH THH THH THH THH ENES N N N N N
ARSIV LRUVZDIEEY 0.003mg/LLLTF — <0.0003 — — <0.0003 — —Hj gﬁi ;ﬁfﬂj ;ﬁfﬂj gﬁi ;ﬁfﬂj
7J<£E&U?0)1té% 0.0005mg/LLLF — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 —
tl/*/;w%wﬂzéfm 0.01mg/LLLF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
ﬁ’a&ufmté% 0.01mg/LLLTF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
A Eﬁ&u%wﬁém 0.01mg/LEATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
o /\1@951A1I::.% 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
® HHEEAEEE R 0.04mg/LLATF <0.004 — — <0.004 — — — <0.004 — <0.004 — —
B STAEAA U RUIERS T 0.01mg/LLLTF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
o E:ﬁﬁﬁ%;é%i&lﬁﬁiﬁﬁﬁ%%i 10mg/LUATF <1.0 — — <1.0 — — — <1.0 — <1.0 — —
& SORRUVZDEEY 0.8mg/LLLF 0.10 = = 0.14 = = = 0.12 = 0.08 = =
& TORRUZOEEY 1.0mg/LELF = 0.01 = = 0.01 = = 003 = = 0.03 =
o iﬁ1byx$ 0.002mg/LELTF <0.0002 = = <0.0002 = = <0.0002 = = = <0.0002 =
& 1 47—(/171;#@;/ 0.05mg/LLATF <0.005 — — <0.005 — — <0.005 — — — <0.005 —
DAR-1,2-2/0ATFL:
7;5‘-5; }EU I~'5>/x—1,2—~‘):);l|/:u/:|1§|/> 0.04mg/LELTF <0.001 - - <0.001 - - <0.001 - - - <0.001 -
5 ?fyl:mxf;y 0.02mg/LLLTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
% FrS/O0RIFLY 0.01mg/LULTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
% h:{’)glu:?lf/ 0.01mg/LLAF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
x [RvEy 0.01mg/LUTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
n |BREE 0.6mg/LLL T <0.06 — — 0.11 — — — 0.08 — <0.06 — —
f- |[VDDEEE 0.02mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
1§ |ZB0HLLA 0.06mg/LLLTF 0.012 — — 0.033 — — 0.015 — — — 0.005 —
g |[C200E#E 0.03mg/LLLTF — <0.002 — — <0.002 — — <0.002 — — 0.002 —
oJ0¥E/00A8Y 0.1mg/LELTF 0.001 — — 0.003 — — <0.001 — — — 0.002 —
e 0.01mg/LLLTF <0.001 — — 0.001 — — <0.001 — — <0.001 — —
IR 0.1mg/LEATF 0.017 — — 0.047 — — 0.019 — — — 0.011 —
PIEEES 0.03mg/LLLTF — 0.007 — — 0.011 — — 0.008 — — 0.004 —
jn%°)7u OA%Y 0.03mg/LLLF 0.004 — — 0.011 — — 0.004 — — — 0.004 —
JOERILL 0.09mg/LLLTF <0.001 — — <0.001 — — <0.001 — — — <0.001 —
RILLTILTER 0.08mg/LLL T — <0.005 — — <0.005 — — <0.005 — — <0.005 —
FIMRUZDIEEY 1.0mg/LLLTF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
7)1«5;@A&U‘%0)1t@% 0.2mg/LLL T — 0.03 — — 0.07 — — 0.05 — — 0.02 —
& ﬁ&q%mte% 0.3mg/LLLF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
:ﬁ% HRUVZDILEY 1.0mg/LELTR = <0.01 = = <0.01 = = <0.01 — — <0.01 —
m'ﬂ FTRIDLRUVZDIEEY 200mg/LELF 6.7 — — 48 — — — 9.7 — 15.9 — —
n [ IVAVRUZEDIEEY 0.05mg/LLATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
# s B A1A 200mg/LEA T 6.3 5.5 6.5 5.4 5.2 5.2 5.2 7.9 6.5 8.7 9.0 7.9
ﬁﬁ DIV L TR LE FEE) 300mg/LUATF 22 — — 18 — — — 32 — 27 — —
7§\§ Eff%'?ﬁ o 500mg/LLLF 63 = 56 38 — 42 47 — 52 7 — 71
B 3% BB R E; 0.2mg/LLLTF — — <0.02 — — <0.02 — — <0.02 — —
:Eg CIFRAIV _ 0.00001mg/LELTF = 0.000002 0.000003 0.000003 0.000003 0.000002 — — — — — <O¥02
§f 2—>¢=)={L4V7|§)b*71-—)b 0.00001mg/LEA T — <0.000001 | <0.000001 | 0.000001 <0.000001 | <0.000001 — — — — — —
o 3 3?471':%@%’&%!1 0.02mg/L1«):'F — <0.005 — — <0.005 — — <0.005 — — <0.005 —
B 2z/—LE 0.005mg/LLL T <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 — —
<z AR (2EH#RF(TOC)DE) 3mg/LLLTF 0.7 0.5 0.8 0.7 0.6 0.7 0.7 0.8 0.6 0.7 0.7 0.7
IE*L pH{E 580 E86LLT 7.4 7.4 7.6 7.4 15 7.4 15 7.6 7.4 7.4 7.4 7.3
B o B EE TR EEgL | BEEGL | B84l | BEEGL | B84l | BEEGL | B84l | EEGL | B84l | BEEal | B2l | BEE4Ll
2R BEETHENIE BEELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL EELGL
BE S5ELLT <0.5 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
AE 2T <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1
— _ i ] ] ]
RRBIER (RITIRAD 0.1mg/LLAE (SETHREID 0.3 0.3 0.2 0.2 0.4 0.4 0.4 0.3 0.3 0.4 0.4 0.3
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